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SSC CGL/CHSL TIER 2 (CRASH COURSE)

1.A trader had 16 quintals of wheat .he sold a part of itat 17 %
profit and the rest at 27 % profit ,so that he made a total profit of
21% .now much wheat did he sell at 27 % proflt ?

Ueh TR o U 16 fhed g T . I $HHT U [T 17
Tfr=Td Yy TR ddﬁ’q Gﬁ??ﬁﬁrzwﬁ?ﬁrml R, afe. 394 21%
BT o AT HHT . I 27 UIRTd AT TR fad=1 g a1 2

(1) 640 kg

(2) 540 kg

(3) 570 kg

(4) 960 kg
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2.A trader sold an article at a gain of 20% .had he purchased it for
40% more and sold for Rs 24 less ,then he would have incurred a loss
of 20%,what Is the cost price of article ?

T IURT A 20% Pl dgd IR U 9 DI 91 . Tia 39 40%
3ifYp B T 3R 24 YUY HH T 91 81T |, fh I 20% BT

IHI BIdT, 9¥q P ANId HIHd FT G 2

(1) 600
(2) 540
(3) 500
(4) 300




total cost of 5

g FTeet 3R 5 W D! pd ¢
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3.The total cost of 8 buckets and 5 mugs is Rs 92 and the

buckets and 8 mugs is Rs 77. find the total
cost of 2mugs and 3 buckets

T 92 3T § 3R 5 dlect 3R 8

T P! Hd ANTd 77@“3[% 2 T 3R 3 Sice] Bl Hd AN
g 2 (1) 21

(2) 20

(3) 17

(4) 35
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4. A man purchased 150 pens at the rate of Rs. 12 per pen. He sold 50 pens
at a gain of 10%. The percentage gain at which he must sell the remaining
pen so as to gain 15% on the whole outlay Is

Uch 3MTGHl H 150 39 DI & § 150 U @RI | 12 Uid U, I 10% ATY
Wsoﬁ?éﬁlqﬁmﬁwumuewﬁwﬁqmmaﬂla@
T WR 15% 1Y YT 81 Job

(1) 215%
(2) 20%
(3) 17%
ORVEZ
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5.1f selling price an article is reduced by 60%, then there is a loss
of 10% on cost price. The initial profit percent was

gt fohdl 93 P [ahd Hed 60% HH 8l STl g, dl INTd Hed |
10% 1 BT Bl & | URTH® ATH Ui=rd o

(1) 70
(2) 80
(3) 100
(4) 125
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6.The income of A ,B and C are in the ratio 7:9:12 and their spendings are in the
ratio 8:9:15 .If A saves 1/4™ of his income,then the savings of A ,B and C are in
the ratio of

A, B 3R C & 3T BT 34N 7:9:12 & 3R 3 Wd HT 3UId 8:9:15 g |
gfc A 3T 3T &7 1/4 ST §, AT A, B 3R Pl 99d C P U -
A.69:56: 48

B.47:74:99

C.37:72:49

D.None
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7.In an examination ,the number of those who passed and the number of those who
failed were In the ratio 25:4.1f five more had appeared and the number of failures
was 2 less than earlier,the ratio of passers to failures would have been 22:3.The
number who appeared at the examination,is.

THh G1ef |, 30l 81 aTdl ot ST 31R HHhd gi- Il &1 XRel BT 31U
25:4 UT| e g 3R IURT BId 3R B BI- dIdll Bl T Ugd & 2 HH

gIc, df S0l 811 dTdl 31R 3% d g1+ ardll o1 3fJuTd sidl 22:3.T31&m |

M gH aTell bt SAT g | A.145
B.150
C.155

D.None
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8). The present average age of A, B and C Is 44 years. 18 years from now, the age
of B will be equal to the sum of the present ages of A and C. Find the present age

4499 5| 3T Y 18 IY TIG, B P 3T A 3R C

of B?

A B3RC3

ACREIGRCIR

BT TaHTT 3

g b IR & SRR

dis I

51 AT 3T T P

| B ¢

a)55
b)53
)59

d)no
{
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9. 94 iIs divided into two parts in such a way that the fifth part of the first and the
eight part of the second are In the ratio 3 : 4. The difference between square first
part to the second part Is

94 1 1 HITTT A 59 YR fauTforq fahar man € fo uget &1 graral 4 3
gﬂeco%alcsdllmTMco&judﬁ%qeﬁlmT% I BT IR U 3R
b oIl B2

(a) 3134
(b) 2314
(c) 3138
(d) not




10.
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In which

RIEGRIN

3

adrant to the point (4,-5) lie?

fog (4, -5) Rud 82

(a) First/Ugdl

(b) Second/g X1
(c) Third/dlERT

(d) Fourth/aTYT
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11.  The mid-point of the points (4, 7) and (8,3) Is :

a5 (4, 7) 3R (8,3) HT H-I4g &:

@) (5, 7)
((b) 3, 2)
(c) (6,5)
(d) (5, 6)

v da s S A AE BN AR B B I e R W
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12.1f the mid-point of the point (3, b) and (5, 7) i1s (4, 6). Then
the value of b Is:

gfe (3, b) 3R (5, 7) BT HA-HG (4, 6) 8 I B & FG® g:

(@) 5

(b) 3

(C) 2

(d) 4
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13.In what ratio the line segment joining the points (-2, -3) and
(3, 7) 1s divided by y-axis?
3P (-2 3) 3R (3, 7) D! I aTel DS bl fobe

3T T y- 3{&[% fﬁmﬁlﬁf‘mw%‘za) "

(b) 2:3
(c)13
(d) 3:1
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Q14. Find no. of same type of smaller
spherical balls that can be formed from
another hemisphere if radius of each such
smaller spherical ball is 1 /16 th of that
hemisphere?

= ISt U §1 UPR i BIE TADR e S

@iﬂﬂ?ﬂﬁ@ TS Sff Gohdll & dle Ut
J® Bicl MATPR e Bl Fodl 39 e

®I1/16 91 82
(a) 4096 (b) 2560 (c) 2048 (d) none
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Q15. A spherical ball iIs melted to form 63 identical cylindrical
vessels. If radius of each cylindrical vessel is 33 (1 /3 )% of radius
of spherical ball and height of each cylindrical vessel is 3cm less
than radius of each cylindrical vessel, then find radius of spherical
ball.

Uh MATHR Ta Bl TR 63 JHH B R Fc= g41T SiTd
g | If¢ ISP dTHIBR dci- D1 HAod] TATHR TiG B! AT &
33 (1/3)% & 3R UA® dAIBR - Pl HaATs Tdd JaIHR
o9 &l BT Y 3 A9 BT B, Al MATHR Tie D 3] Jid B |
(a) 21cm (b) 14cm (c) 35¢cm (d) none
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Q16. A large sphere of radius ‘R’ cm was converted into 64 small
spheres of radius ‘r’ cm and then one small sphere iIs converted into

16 smaller cones of radius of ‘a’ cm. If height of cone Is two times of
its radius, then find R: ar.

ST 'R HT & Ueb g Tl I 'r' T ST & 64 BIC Ml H

ufkafeid forar T SIR R Uab B TMidl &l ' JH AT & 16 BIC
i U uRafcd fd 7| Afe [ip i g ITD! B3 & T
% FﬁR -a:r JTd Pl |

(a) 6:1:2 (b) 4:2:1 (c) 8:1:2 (d) none




